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- sixth semester B.E. Degree Examination, June/July 2024
Finite Element Methods

Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions, choosing Oxn ?oU questionfrom each ntoclule.

N,lodule-l

? List and explain general steps of'Finite Lrlcnrcnt Nlethods. (r0 Nlarks)b' A bar of length I-, cross section arca A and nrodulus ol elasticity Ir. is sutr.jcclecl to
distributed load q = CX, u'here C rs constant as in Fig Q1(b). Dcternrinc tlrc displacernent e1'
bar at end using R-ll rtrethocl.
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Fig Q I (tr)

OR
Explain difl'erent types of elerrents in Finite Element Method.
Explain simplex. conrpler and niultiplex elements.
LJsing Galeskin's method flnd the expression 1br displacernent
in Pig Q2(c)

[----+" r<
go $\n*'

r_ ig e2(c)

Module-2
a. Derive shape lLrnctions lbr C S.'f clentent.
h. Derive shape lirnction lbr l'll I - 4 eiulcnts

OR
Determine Lhe stresses rn nterlber-s o{. structure
method.

gIVCII

A, . l(oo"',f

Fig Q4

lo{'3

(20 ) Iarl<s)
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Modulc-3
5 a. I)erive Hermite shape flnctions fbr beam element. (10 Marks)

b. Fig Q5(b) shows a simplv supportecl bearn subjectecl to U.D.L to obtain max, cleflection.
-l'al<c 

tr,.,, 200GPa. I : 2 x l0(;nrnra.

18ME6l

(10 )larks)

(10 NIarks)

6a
b

Fis t)s(b)

olt
Derive an eclLlation 1br stillicss matrix 1br'I'orsion bar.

A soiid stcppcci bar of crrcular C/S as in lrgure is sLrbjected to
Irig Q6(b). Determine angle o1' trvist arrd shear stresses in bar E

(i:J r 10aN/rrimr.

3ltN-^ LB'l'*

Irig Q6(b)

N'lodule-4
7 u Derive an drllbrential equation ibr lD heat conductron.

b. Fincl the ternperature distribLrtion rn lD lln as shorvn in l'rig Q7(b)

l*,to'to" 6,rIc,r'c

(10 Nlarks)

(I0 1\Iarhs)

torclue as shorvn irr

- 2 x 105N/rnm2

olro c

8a.
b

Irig Q8(b)
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Ct-,F4-" ?t J .lurt"t'

Frig Q7(b)

OR
Dcrive 2D lluid f'1ow lbr porous mediur-n di1-l'crential equation.
I:or the smooth pipe shown in [rig QS(b) rvrth Lrnifbrnr C/S
velocities at thc centre and right encl, knor,ving velocrty at lcli V.

(10 IIarl<s)

(10 \tarks)
of i m2 detennine tlie florv
: 2m/sec.

Y)"r n\s

(10 Marks)
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Modulc-5
Dcrive strain displacemerrt tnertrix ftrr axi-syt-neric eletnent. ( I 0 )larks)
Ilvaluate nodcs fbrces tised to replace thc linearly varying surfhce traction as rn F j-q. Q9(b)

10

Irig Q9(b)

OR
and eigcn values fbr the

specil'ic rveight 7850 kg/m3.

( 1 0 NIarks)

stcppcd bar shorvn in I'ig Q 10.

Drarv mocle sliapcs. Ar : 400rnnrr.
Evaluate eigen vectors
TakeE:200GPaand
A::200mm2.

3

10 oL"\ ,

Fig Q10
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Sixth Semester B.E. Degree Examination, June/Julv 2024

Design of Machine Elements - ll
Titne: 3 hrs. Mzrx' Marks: 100

lYote: l. Answer utrt, FII/E full rlueslious, cltoosittlg O,\-E.fitll questiott.fi'ont eoch rtttttluIc.

2. LIse of'desigrt dutu book is permitted-

1a.
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Module-3
A pair of straight tooth bevel gears at nght angles is to transtnit 5 kW at 1200 rpm olpinion.

Pinion cliameter is 80 mm ancl the velocity ratio is 3.5:1. The tooth fortu is f +l cornposrte')')
L

Both pinion ancl gear are of cast-irou with o'a: 55 MN/rn2.

(r) Determine the lace width and the rcquired module fi'om thc sl.and point of strength

using Ler,vi's equation. Take Cs : 1.0.

(ii) Check tirc design fbr dynamic and wear strength. Takc dynamic load fu'rctor

C: 139.1 N/rnm. (20 i\Iarks)

I of 2

gryggts-!
Briefly cxplain thc construction and applications of Timing bclts. (06 Nlarl<s)

De sign a helical comprcssion spring for a scrvice load ranging fron 2250 N to 2750 N. Thc

axial deflection of the spring for the above load range is 6 mm. Taking the sprtng irrdex as

5 design tfle spring for a permissible stress of 420 MPa. Assurne rnodulus of dgidity
.',"'.', ),

OR
Explain the ptoce ss of equalization of stresses in leaf springs' (04 N{arhs)

A pulley 200 nrrt cliameter rotating at 900 rpm, has 6 grooves and clrivcs atlother pulley ol'

500 ntm cliametel by mcans of V-be lts of cross scction C. The ccntre drstancc betr.vecn

pulleys is 1500 nrnr. The drive has to rvork 1bt t2 hottrs/dayundcrmecliurn sirock loac1, I'itrcl

the power capacity o{'the dnve. (16 N'Iarks)

USN
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C : 240 N/mm. (14 Marks)
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OR
6 Design a r,vom gear drive to transmit l8 kW from a worm rotating at 1440 rpm to a woml

wheel to rotate at 40 rprn. Assume 20" FDI form, seruice factor CS: 1.5. Wonn is made of
hardened steel while gear is of phosphor Bronze material w'ith an allowable static sh'ess of
103.5 MPa. Gear ternperature is 60'C and ambient lemperature is 30'C. Check the heating
capacity of the clrive and also calculate the eltciency of the worrr gear drive. (20 Marks)

Module-4
7 a. Dcrivc an exprcssion for torque t.unililGi?upacity of a cone clutch accorcling to unifbrm

ri cul th cury. ( l0 M I rks)

b. A mLrltiple plate clutch has 2 bronze and 3 steel discs. The friction material can withstand a

pressureof0.l N/mrn'andcoefficientoffriction:0.l5.Theoutsideandinsidediametersof
friction lining are 200 mm and 120 mm respectively. Detcnninc the power transmitted by
tlre clutclr lt 1000 rprn. ( l0 M:rrks)

OR
A single block brakc with a torquc capacity of 250 N-rn rs slrown in Fig.Q8. The brake clmm
rotates at 100 qrrn. Coefficient of fiiction is 0.35. Calculate:
(i) Actuating force and hinge pin reactions for clockwisc rotation of the dmu"r.
(ii) Actr"rating force for counterclockwise rotation of the drunr.
(iii) The rate of he at generated during braking action.
(io) Dimensions of shoe block if thc allowablc bearingprcssure is 1N/mm2. The length of

the block is twice its width.
.ii ,ii)r,, ,i .,iliiitj.

500 mm
ZOO mil : *..1

50 mm 
'.i

gl,l*e -'P
{b.L-t I i r' I

(ut) Amount of heat generated (14 Marks)

ol{
10 a. Derive an exprcssion for cocfficient of friction in a hydrodynamic bearing based on Petroff s

e quation. (08 X{arl<s)

b. A ball be aring runnrng at 900 rprn is subjected to a radial load of 2 kN and a thrust loacl of
1.2 kN. The bcaring is in use for l0 hours per day, 6 days in a week for 3 years at 95o/o

reliability. Determirrc the size of medium series ball bearing that can be r.rsed for the above
loadirrg condition.

(20 Marks)

(06 N{arhs)

kN at the
1000. The

****+
2 of 2

(12 Marks)

9a.
b.

8

Fig.Q8

Drum Radius;200 mm
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Sixth Semester B.E. Degree Examination, June/July 2024
Heat Transfer

Time: 3 hrs. Max. Marks: 100

Note: L Arrsy,e r tn.t, [;ll'U./itll 11ttttsliotts, r'hoosirrg O,\E./full rlucstion.fiortr t:cctt ntodu{c.

2. [,tse o.f'IIeul Truns.t'i:r I)utu huttdltottli ltcrmittcd"

Explain rvith sr-ritablc skctchcs, thc l''. 2"'l ancl 3''i kincl ol'lrorrnclan, conrl itions. (06 I\iarks)

Explain t-rricl'lv:
(i) I-ltcrntrtl e ('lt(lucli\ 'l\
(ir.1 Iltct'tttll rlrl'furirit1
(iii) Thcnnal contact rcsistiittcc (06 I'Iarks)

c. A nrild stccl tiink o1'u,all thicl<ncss 20 mir is usccl to storc u'atcr at 95"(1.-i-hcnual
concluclir,'ity of milcl stccl is 45 Wrrl-oC. and thc hcat transl'':r cocfllcicrtt itrsicle and or.rtside

thc tank arc 28-50 Wlml-oC arrcl 10 Wirr2-o('rcspcctivcly. I1-the sr-rrrounclilrg air tempcr;i[trc
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1a.
b.

't4

b.

is 20'C, calculale tirc ratc o1'hcat lranslbr pcr tutit at'ca o{'tltc taltk.

OR
f)crivc an equation lbr critical tlr ickrtcss of insr,riatiot.r itt c,r,'linricr.

(08 }larks)

({}(r r\{a rks)

anci hcat flou' usin.g lirmpcd paramctsl'
( I {) i\Ia rks)

C.

A srnall sphcrical vcsscl ol oirlsiclc clianrelcr 60 lrln is covcrccl ri'itir as ;rsbestos

(K,..0 ll05 Wim-K) ancl le Ii in thc atrnospheric air at l()'(-. The filrn cocfl{lcient irctu'ee;t
air and asbcstos is -5 \\''lrrl-K. If it is ilcsircd to nrarinrizc thc hcrt transfbr ratc fi'om thc

contcnts of thc r,csscl to thc air. cictcrminc thc, thickncss oI asbcslos c()\'cr ncccierl and also

the ratc olheat llorv a1 tlris thickncss if tlre surfirce thc t'e sscl to bc nraintriincd at 120'C.
(06 i\{ a rks)

An irrsr.rlatctl stcarr pipc having or:tsidc cliarnctcr o1'30 mnr is lo bc covcrcrl r.i'ith lrvo la1'crs

of insulation each havirr-q a thicl<ncss ol'2,5 rlrn. 'fhe rvcr.agc lirertnal conclr,t':tivity ol ouc

material is -5 luncs that o1'thc otlrcr. Assurring that thc inncl uncl outer surlncc tct'ttpct';lturcs

ol compositc insi-rlation arc fixccl. hor.r' n.rtrch r,r,ill thc hcat transfcr bc rccluced rvhcn the

bcttcrconducting matct'ial is ncxt to thc piitc than it is otrtcr )a1'cr'/ (0lt I'tarks)

Nlotlglc-2
a. Dcrivc thc crprcssiorr 1br tcrrl]cratllrc distribution and ratc of'hcat translbr'fi'otl a Iln u'hcn

its cnrl is insulatcd. (I0}larks)
b. A handle of a lacllc Lrscil lirr pourirrg rnoltcn lcail at 327'C is 30 crn kns;tnd is ntadc of

2.-5 crr x 1.5 cnt rrilil stc,-:l bar stocl< (l(,..43 Winr-K) Itt ordcr to tctltrcc thc grip
tcnrperaturc, it is proposcd to rriakc a lrailou' irancllc ol'urilci stccl platc i .-ri mll.thic,k to 1.hc

sarnc l'cctangular shapc. I1'thc sLu'fnce hcat tlanslbr coci'ficicnt is 1.1 .5 \\','m"-K and the

ambicnt tentpcraturc is 27"C. cstinralc thc rcductiiln in tirc lct-iti)crattll'c tl 1'lhc grip. Ncglcct
thc hcat transfct'1l'onr thc innct'surliicc o1'tht- hailon'sltapc. (10 Slarks)

4 tr. Dcrive thc crprcssitx lbr tct.nl,crlttttrc
arTalysis in transicnt hcat contlrrclion.

OR
clistribu trou

1 ol3
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b. A 50 rrn.r thiclt iron plare [K - 60 W]m-K. p -. 7350 kgirns, C,, - 460 J/kg-Kl is initially at

225"C. SLrddcnly'thc plate is irnmelscd in a tlLricl rncdiunr maintaining at a uniform
lcn'tpctiltrrrc of 2-5'(' u,ith a surfirce heat trarrsicr coe fl'icicr-rt of -500 W/m2-K. Calculate:
(i) I'hc tcurpcnrlule rt the centrc o1'thc platc ? nrinLrtes after the starl of coohng
(iii .l'crrrpcratrrrc 

tr l tlcptlr o1'I0 nrrr fior-u platc sur'lircc 2 r-ninutcs alicrthe starl of cooling
(iii) 'l'cnr1-rcrattrlc at thc platc sLrliircc ) nrinrrtcs alier thc slalt ol'cooling
(it') -llrc cnurgv r-cr.rrovcil 1l'om tirc platc pel nr'l tltrt'ing this tinte .

5a.

b

7a.

b

(10 Marks)

Nlodulc-3
l:.rpiain rmplicrt turcl cx;llicit urethod firr diserctization of l-dimcnsiclnal transient heat

e onrluction probJcrr. (08 Marks)

l\n iron locl t- - 5 crn long ot' diarnclcl D 2 cm with thermal conductivity
l(,.'-5() W,'(nr-'L') protruclcs lion'r a u'all and is crposccl to an iimbient at T-:20'C and

lr,,,. 100 \\ir(rnr-"('). -['he binc oltlic rocl is at -[-l]-',3?0"C'ancl irs tip is insulateci. Assuming
1-l) stclcil,' statc ireut llLrr.r'. calcLrlrltc tllc te nrl're l'ulrrrc distritrrrtion aiong thc rod and the rate

oi'l.icut llori,rnto thc rrrrrbrcnt bv Lrsing llnitc dilicrcnccs nrcthotl.

.,\ssLrrnc thc initial sLrcss lir LcrlrpcratLlrc lrs 100"('iin(l thc lcnsth o1'thc tin is divided into
,i ctlLtal parts. (12 Marks)

OR
6 a. Dcilne and expiain thc I'bllowing:

(i) Kilcl.roffs lau'
(ii) Stcltrn IJoltzrnan lalv
(iii) \\'ein's rlisl-llaecnrcrrt luu

c. i:nrissivitics oi'tu'o )rrrgc paralicl platcs nuiirrtairrccl al |i00"[' anr] -100'C are 0.3 and 0.5
rcspcctivcly. Fincl the nct raclianl ircrt crciringc lrcr,,.r'fc,l thcsc platcs. Fin<i the percentage

rcclr-rction in hcat trairsfcr when a polishcd alunrinir.Lrn lacliation shiclcl olcmissivity 0.06 is

b. i\ lLrririicc r.r'all cnrits racliation at l()(10 K.-l'r'crting it as black bocly racliation, calculate:

(i) lvlanochronrritic racl iunt ilur rlcusitr.'at I gnr u.lir c lcngllr
(ri) Wlrvclcngth al wlriulr clnission is rrurrirrrLrnr irncl tirr, culrcsponrliug curissive power
(lri) -l-olal cnrissite pou,cr (06 Marks)

plirccd bctn,ccr.r thcnr. Also llncl thc tcnrlleratLlrc o1'thc sliicld. (08 Marks)

Nlodqle-4
l:rpluirr ii,'ith ncat shcri,.:hcs: (i) Vclocitv br:Linilrrrr, lril'cr' (ii) l-hcrrnal boundary layer

(06 NIarks)
,\tnrospircric air rri 30() K llow rvitlr a velocitr.'oi'-i nris. along a Iat platc of lcngth 1m long.
'l-lrc plate has a u'irltlr o1'().5 ur.'l'hc total drau. lbrce iictiLrq on thc platc is dctemincd to be

lE x l0I N. IJv usrnu rhc l{c-vnok1's-ColbLn'n ar-ralog\'. cslirnatc thc avcrage heat translbr

(06 Marks)

coe 1-f icicnt lor 1.1or.r, o1'air ovcr fltc platc. (06 Marks)

e. Watcr llor,i.'s u'ith a nruiln vclocitv of 2 urls insidc r circular pipc of insidc diameter 5 cm.
'i'he'pipc is consirlcrccl to bc a sr.nooth pipc ancl its u,all is maintaincd at a uniform
tcinperaturc of I00'Cl by conilcnsins stcanr on its olrtcr surfhcc. At a location ll,here the fluid
rs hr'dnrciynamiceliY und thcnnaliy dcvcloperl . the bLrlk lncan tcmperaturc of r.vater is 60oC.
L'alculltc thc hcat tlansicl cocl'liciunt br Lr sirg:
(l) [)rltus-lJocltcr ci-1r-ratiorr

rii, \r*.ltt-firle r'rt,t.rli(,ll

2 o1'3

(08 Marks)



(ii) I'}randtl numbcr
(ir' ) Clrashof rtLrnrbcr'

b. Considcr a sqLlarc plalc 0.-5 m br,'0.5 nr rvith ortc surlhcc insulatccl lrncl lhc othcr sur{iioe

rnaintainccl at ai unilbrnr tcrrircratulc o1' 1 l0'C. vi,hiclr is placccl itr tlLricscu-n1 air rtt

atnrosphcric []rcssLtrc and 40'('. CalcLr latc thc arrcragc ltoat lrans{'cl cocfllcient {or il-cc

oR
a. Iixplain thc phl,sical sigrrillcarrcc olthc fblii,,rvinq tl irncnsionlcss rr.rrnbcrs:

(i) Rcynolcl's nLu-nbcr
(iii) Nusselt ur-rmber

convcctron lbL thc fbllou Ing ot'icntaliot-ts ol'thc lrot srtrlltcc,:
(i) "fhc platc is horizontal u,ith hot sttrfhcc firccs tLlr

(ri) Thc platc js horizontalti'ith hot sutiacc fhccs clou'n
(iii) 'l'hc platc is vcrlical

r iil\I rI6"1

(tlli ]Iarlis)

(12 )larl<s)

(10 ]Iarks)

(06 IIarks)

9a.

b.

\Iodule-5
Dcrive an cxprcssion 1br LN,ITD lirl parallcl llorv heat cxcharrgcr anci thc assurrptions rladc.

(10 I'larks)
A cross flou,hcat exchangcr u'rth both tirrcads unnrrrcd haring a hcat tt'ansfi:r irrca o18.4 nt2

is to hcat air (Cp": 100-5 .lrkg-'(')u,ith rvatcr ([,'fr, =.1180.l'kg-'(i). Air cr]lc:rs at i5"L-- r,vith

2.0 kg/s. lr,hilc ther \\'etcr"cntcrs rrt()0o('u,rth ().1,5 l<Lr,'. I'h- ovct'ali hcll tlanslbr cocf'ficicnt
is 250 Wirl--o('. CitlcLrllitc thc ,:rit lcrlrpcratrLlcs oi'hotir ail nnlcr-as ricll as tolal hcat

10 a.

b.

trans fi:r ratc.

OR
i:.xplain drf{bre n1 rcgitlcs o1'pooI boiIing u'ith ncat skctchcs.
Satr.rratcd \\,ater at 100'Cl is boilcd lvith a coppcr lrcating clcurent having a lrealing surlhcc ol
500 sq.cr"n, which is rraintainecl at a unilirnr tenrperaturc o1'll-5'Cl. Clalculatc thc surlirce
hcat flux ancl ratc of cvaporatiott. (0fi IIarks)

c. Air li'cc saturatcd stcanr at'l'r ,.,E)"C condcr.rscs on thc orttct'surfhcc of 22-5 horizontal tubes

ol 1.27 crrr Ol) an'ansccl in a l5-bv-1.5 arrav. Tubc surliccs arc nrainlained at a unilon'tt
tclnperaturc T* - 75'C'. CaicLriatc the total conclensaliorr nitc pcr rnctcr lcnglh ol the tlrbc
bund lc. (()tj )larks)

3 oi'J
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LJ Itrasonic iVlachining.
(0tl i\I arks)
(06 llarl<s)
(06 l'larks)
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Sixth Senrestcr I].Il" I)cgrcc Iiranrin*1ion, .lunel,Iul3, 2{124

Non - Traditional ff-lachining

Time: 3 irrs. VIax Marks: 100

Note: lrsper ont' FIl.'E.full qucstiotts, r:ltoosirty7 Ot\E.ffull question.fi'ont eaclt ruodule.

Modulc-l
a. I)cflne Non --l'raclitional N,{achinng. (irvc classrl'icatiorr oi'Non - Iratiitional 1\'lachining.

(06 ,\larks)
b. [)iscr-rss thc nccii lor Non --l-raditional ivlachrning u ttlr inr,'cnsiorr o1'nrru'cr materials.

({}5 }larks)
c. lrxplain thc critcrras lor thc sclcction o1'N()n I raclitional proccsses (i)9 }larlis)

oR
Lxplain r,r,'ith nccessary sl<ctch Ihe nrcc]ranisnr o {'ntatct'ial rcnroval iir

Drscuss thc process parilnrcters in Iillrrsonrc urac:lrining
List the advantages aud disaiiviurtagcs o l' [.i ltrasottic nrachin ing

ll oclu Ic-2
llnirmerate the dil't'crencc bcluccn Iraclrtiorral anrl Non - trarlilionalNlachining Processcs.

(08 i\'larks)
[)iscrrss thc ;lroccs.s capahrlilv ol'anv trlo Non - triiilitior.rrrI \,lachinrng proccsscs. (06 ]{arks)
[-ist thc advantagcs. disiidvarrtirgr]s and applicalion ol'Norr --traclitiort;r1 pt'occsscs. (06 ]larks)

OR
I:xplain n'ith a ncat sl<ctclr. thc riorking oIAtrrasivc.lct \,lachirrilrs pl.()ccss.

Irxplain with neccssal'v sl<etchcs, varior:s tool feecl rncclranisrns rrscd in
machining
Write a note on SlLu'rr,

t\l oclu Ic-3
S1<etch ancl cxplarn irIectr'ocherlicaI Niaclrrttinc. ptoecss

Discuss the inllLrcnce o1'proccss pararnelels rn Ir]cctrl (llrcrnical l\4aclrining proccss.

lrxplain rvith ncccssary skctch. I::lectrochcntical Gr rndins, proccss

olL
a. [rrplain',vrth a florv chart. thc principal process slcps li)r circmical [ilanl<irrg.
b. Explain lvith a llor,r, chart, chetrical nrilirng l)roccss.
c. I-ist the llrnctions o['l:loctrolvtc

(08 ltarks)
[.lltra-ronic
(06 llarks)
(06 )larks)

(06 )Iarks)

(06 IIarks)
(08 llarks)

(08 lllarks)
({}6 }larks)
({)61\'Iarks)

Nlqdult'-.l
a. With neccssarl'sketch, crplarn lhc nrccltattisrl o1'tnclal rcnroval irr lr[)\'l proccss. (06 xlrrks)
b. L,xplain vi,ith ncat sl,,etclres. thc IriLrshirrg lecirrtirlLrcs in I:l)\,{ proccss (08 rIarks)
c. [l'xpiain ri ilh rrcat skclch. tlrc Ir]r:ctrodc lbed corttrol uscr-l in [:[)\,1 irroccss. ({}6 }larks)

I ()l .l



b. DiscLrss thc Accunrcv and surfirce lirnits in l)lasrltr Arc I\{achining.
c. List the: adr,'antt.tgcs ancl linrtatirins of Plasrriu Arc i\'lachining process.

18M[641

(]t,i,

il. Witlr a rteat skctch. crplain lhc rrrcchanisnr o1-rnctal rcnroval in Plasma Arc Machining.
(10 Marks)
(04 Marks)
(06 Marks)

\todulc-5
i.t SliuLelt artci crltlli itt tlte rncchtrnrsnr o1'nretai rcnror'al in [-ascr beant nracltining. (08Marks)
t) I rplrrin tt itlt nce cssrrv skcLch tlic gcneration o1'ltuhy [.ascr. (06 N{arks)
e I-rsl tlrc lttlrutttagc,;, lirrit,rtions ancl ailpliculion ol'i-uscr IJearl \lachining. (06N{arks)

()lt
il. l:xltiain lviLlt a nciiI siielch" thc nraLcrral rcnrtrvul in I:lectron bcaur ntachining. (08N{arks)
b [)iscLtss thc e ll'cct Lrl';lrocess pararnctcrs in l:lcctrorr bcurr nrachining. (06 Marks)
c. l-ist Llre ailvalrtages . iinritations aird application ul'lllectlon bcanr rnac:hining. (06 Nlarks)
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Sixth Semester B.E. Degree Examination, June/July 2024

Supply Chain Management

Time: 3 hrs. Max. Marks: 100

Note: Anyaer ony FIVE full questions, choosing ONE full question .t'rom ench module.
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Modulc-1
a. Define Supply Chain. E,xplain cvolution of supply

b. Explain holv thc various dccision phascs in supply
surp lus.

cl, ain thror:gh thc tlrrcc major revolutions.
(10 illarks)

chain rranagcment hclps in increasing thc
(10 Marks)

(10 Marks)
(10 Marks)

OR
Explain the impact of drfl'crcnt drivcrs on thc pcrfbrrnancc of'thc sultply chain. (10I'larks)

Explain thc various catcgorics of supply chain stratcgics. (10 Marks)

Modulq.?
WlTat are the conditions for a succcssfijl contract'l Explain thc risks of using a third parly tn
a sr-rpply chain. (10 N1arks)

Explain Kraljic's portlolio mcthocl if classifying items fcrr sourcit-rg (10 Ntarks)

OR
Define outsourcing, fixplain the strategic sonrcing pr'occss u,ith advantages and

disadvantages oflsourcirg. (10 Marks)

Explain with exarr-rplcs, vcrtical and tapcrcd intcgmtiot-r in a supply chain. . (i0 llarks)

Module-3
a. Define Stores managellel''rt. What are the ma3or ilnctions ol'the storcs?

b. Explain the various u,nys of'carrying out inspcctiort for inconring meitcnals.

OR
a. Explain thc r,'arious firctors influcncing the optit'rns of distnbution nctr'vork clcsign. (10IIarks)

b. Explain thc rneasurcs wlilch can itnprovc r.t'archousc cf flcicrrcV. (10 Marks)

Module-4
What is tlic fi'arrei.vork fbr nctr.r,ork design clccisior-rs? [:xpiain thc inipac-t of uncedaitrty on

nctwork design with an cxamplc. (10 i\'Iarks)

Define dernand planning and statc its iurportance. [rxplain thc varioLts aspccts of dcmand

planning. (10 Nlarks)

OR
Define pricing ancl explain flxcd pricing ancl irrenu pricing. What iirc thc various metrics

relatcd to pricing'/ (10 Marks)

What is nir-rltiple itcnr-n,ultiplc location inrzcntory rnanilgcntcltt'7 Erplain the challcngcs and

advantages of rlulti-location ittvcntory n')a1'lagenlcllt. (10 ['larks)
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Module-5
Define SLrpply Chain Integration. What are the different stages of supply chain integration?

(10 Marks)
I)cfinc tlLrllwhip cflcct. What are the prornincnt calrses ancl effects of Bullwhip effect?

(10 Marks)

oR
[:rplurn rc\/ersc iogistics ancl thc scenarios Lrnrlcr lvhich a plocluct enters back into the supply
chairr. What are lhe citaractcrislics olreversc sLrpply chain network? (10 Marks)
Dcscribc E-busincss ancl classify them. Explain thc rolc olE-commerce in supply chains.

(10 Marks)

N<***:k

10 a.

b
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